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QUESTION 1

What is true when a user does not have access to any views in a screen? 

A. The views are listed only on the Site Map. 

B. The Screen containing the views is available on the Site Map, but it is empty. 

C. The views are only accessible through a drilldown. 

D. The screen is not available in the application, either through a screen tab or the Site Map. 

Correct Answer: D 

 

QUESTION 2

Which statement is true of Master data? 

A. includes dynamic, transactional data 

B. cannot be grouped into catalogs and categories 

C. is created and managed by end-users of the application 

D. access is controlled at the level of catalog and category 

Correct Answer: D 

 

QUESTION 3

You set the search specification on the Account business component to [Status] = Active and the search specification
on the Account List Applet to [Status] = Red Customer 

What do you see when you navigate to the Account List View? 

A. Both Active and Red Customer accounts, because the search results are ORed together. 

B. Nothing, because the search results are ANDed together. 

C. Only Active accounts, because the search specification on the business component takes precedence. 

D. Only Red Customer accounts, because the search specification on the applet takes precedence. 

E. An error message, because the application detects the conflicting search specifications. 

Correct Answer: B 

 

QUESTION 4
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Which two statements about static picklists based on the PickList Generic business component are true? (Choose two.) 

A. Values are displayed from the S_LST_OF_VAL table. 

B. They can be bounded or unbounded. 

C. They usually display values in a pick applet for selection. 

D. Values displayed in the picklists change during run time based on changes end-users make to data. 

Correct Answer: AB 

 

QUESTION 5

Which two are true regarding object types? (Choose two.) 

A. They have properties. 

B. They have properties and values. 

C. They are edited using Siebel Tools. 

D. They are templates for writing SQL. 

E. They are displayed in the object explorer. 

F. They are displayed in the object list editor. 

G. They are compiled into the Siebel repository file. 

Correct Answer: AE 
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